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V= 36.0+4.9+1.5(7b/h27) -8, 1 (BF1000) —2. 7 (A #24) = n3 31.6
MR L V= 23.6+1.0+0.5(7p/ha") = n3 25. 1
e+ V= 31.6-25.1 = n3 6.5
HE#GE  [BF-1-1000 1. 17X 45.0 = n2 52.7
A A= 1. 20X (2. 0+1. 0) = n2 3.6
7 = m2 56.3
B
Lo STl
A= 3.1(L) = m2 3.1
P RNl
A= 2.3(L)+5.0(R) = m2 7.3
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(0. 05+0. 06) X 0. 407 = 0. 04
PERE 0. 05X (0. 10+0. 10) = 0.01
V= (0. 04-0. 01) X 8f& AT = 0. 24 = n3 0.24
IEE2  N=2f& 7T (A4 45 L& P
(0. 05+0. 08) X 0. 45 = 0.06
PE 0.05X (0. 45-0. 245/2) = 0. 02
V= (0. 06-0. 02) X 2f&Fr = 0.08 = n3 0.08
IEES  N=2f&pr (A4S 1EPT)
(0. 05+0. 10) X 0. 50 = 0.08
PER (0. 05X0.32) /2 = 0.01
V= (0. 08-0. 01) X 2f& 7T = 0. 14 = n3 0.14
7 = n3 0. 46
Zin
fHIEE 1 N=8& Ft
(0. 207+0. 407) X 0. 69X 8 = 3.39 n2 3.4
IEE2  N=2f&pr (A 1EPT)
0. 45X 0. 725 = 0.33
0.245/2 % 0. 69 = 0.08
A= (0. 33+0. 08) X2 = 0. 82 n2 0.8
1HIEES N=2f&pIt (F2 4 - 114 PT)
0.50%0. 83 = 0. 42
0. 42— (0. 32X 0. 69) /2 = 0.31
A= (0. 42+0. 31) X2 = 1.46 n2 1.5

R = m2 5.7
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ANV A=t
7~ B = H500 X W1200 X 1.2000
L= 2.0Xx3(L)+1.0X2(R) = n 8.0
0 B 1k k4 £=10mm
A= (L) 1=3.20X2.0 = n2 6. 40
(R) 1L=2.45X1.0 = m2 2.45
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A= 0.865X0. 46 = m2 0. 40
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